



(An Autonomous Institution) Coimbatore-641035.

UNIT-IV COMPLEX INTEGRATION

LAURENT'S SERIES

Laurent's Sevies Let e_1 and e_2 be two eccentric closcles $|z-a|=R_1$, $|z-a|=R_2$ tobers $|z-a|=R_1$. Let $|z-a|=R_2$ analytic on $|z-a|=R_1$ and $|z-a|=R_2$ and $|z-a|=R_2$ analytic on them. Then for point $|z-a|=R_1$ them. $f(z) = \sum_{n=0}^{\infty} a_n (z-a)^n + \sum_{n=1}^{\infty} b_n (z-a)^n$

$$f(z) = \sum_{n=0}^{\infty} a_n (z-a)^n + \sum_{n=1}^{\infty} b_n (z-a)^n$$

$$a_n = \frac{1}{2\pi i} \int_{c_1} \frac{f(z)}{(z-a)} dz$$

$$bn = \frac{1}{2\pi i} \int_{C_2} \frac{f(z)}{(z-\alpha)^{-n}} dz$$

bn = $\frac{1}{2\pi i}$ $\int_{C_2} \frac{f(z)}{(z-a)^{-n}} dz$ where, the Pntegral being taken in anticlock wise direction.

note:

In laurently series of fit), withe terms containing positive power which is regular part and the terms containing which negative Power is called principle part.

1) Expand $f(x) = \frac{4x-2}{2(2-2)(2+1)}$ In laurond's Series 3) 17/22 in 12/23 ini) & x12/3





(An Autonomous Institution) Coimbatore-641035.

UNIT-IV COMPLEX INTEGRATION





(An Autonomous Institution Coimbatore-641035.

UNIT-IV COMPLEX INTEGRATION

$$= \frac{1}{2} - \left(\frac{1+\frac{z}{2}}{2} + \frac{z^{2}}{2}\right)^{2} + \dots\right)$$

$$= \frac{3}{1} \cdot \frac{1-\frac{z}{2}}{2} + \frac{z^{2}}{2} \cdot \frac{1}{2}$$

$$= \frac{1}{2} - \sum_{n=0}^{\infty} \left(\frac{z}{2}\right)^{n} - 3 \sum_{n=0}^{\infty} (-1)^{n} z^{n}$$

$$= \frac{3}{12} \cdot \frac{1}{2} = \frac{3}{12} \cdot \frac{1}{2}$$

$$= \frac{1}{2} + \frac{2}{2(1-2/z)} - \frac{3}{2(1+\sqrt{z})}$$

$$= \frac{1}{2} + \frac{2}{2} \cdot \frac{1-2}{2} \cdot \frac{3}{2(1+\sqrt{z})}$$

$$= \frac{1}{2} + \frac{2}{2} \cdot \frac{1-2}{2} \cdot \frac{3}{2} \cdot \frac{1+1/z}{2} \cdot \frac{1-1/z}{2} + \frac{1-1/z}{2} \cdot \frac{1-1}{2} \cdot \frac{1-1/z}{2}$$

$$= \frac{1}{2} + \frac{2}{2} \cdot \frac{z}{2} \cdot \frac{1-1/z}{2} \cdot \frac{1-1/z}{2} \cdot \frac{1-1/z}{2} \cdot \frac{1-1/z}{2} \cdot \frac{1-1/z}{2}$$

$$= \frac{1}{2} \cdot \frac{1-\frac{1}{2}}{2} \cdot \frac{1-\frac{1}{2}}{2} \cdot \frac{3}{2+1}$$

$$= \frac{1}{2} \cdot \frac{1-\frac{1}{2}}{2} \cdot \frac{3}{2+1} \cdot \frac{3}{2+1} \cdot \frac{3}{2+1}$$

$$= \frac{1}{2} \cdot \frac{1-\frac{1}{2}}{2} \cdot \frac{3}{2+1} \cdot \frac{3}{2+1} \cdot \frac{3}{2+1}$$

$$= \frac{1}{2} \cdot \frac{1-\frac{1}{2}}{2} \cdot \frac{3}{2+1$$





(An Autonomous Institution)
Coimbatore-641035.

UNIT-IV COMPLEX INTEGRATION

Take
$$z+1=u$$

$$z=\frac{u-1}{1}$$

$$f(z) = \frac{1}{u-1} + \frac{2}{u-3} - \frac{3}{u-1+1}$$

$$f(z) = \frac{1}{u-1} + \frac{2}{u-3} - \frac{3}{u}$$

$$1 < |u| \text{ and } |u| < 3$$

$$\sqrt{|u|} < |u| \text{ and } \frac{|u|}{3} < 1$$

$$f(z) = \frac{1}{u-1} + \frac{8}{u-3} - \frac{3}{u}$$

$$f(z) = \frac{1}{u-1} + \frac{8}{u-3} - \frac{3}{u}$$

$$f(z) = \frac{1}{u(1-\sqrt{u})} + \frac{2}{-3(\frac{u}{3}+1)} - \frac{3}{u}$$

$$f(z) = \frac{1}{u(1-\sqrt{u})} + \frac{2}{-3(\frac{u}{3}+1)} - \frac{3}{u}$$

$$f(z) = \frac{1}{u} \left(\frac{1-\sqrt{u}}{u} \right)^{-1} - \frac{2}{3} \left(\frac{1-u}{3} \right)^{-1} - \frac{3}{u}$$

$$f(z) = \frac{1}{u} \left(\frac{1+\sqrt{u}}{u} + \frac{1}{(\frac{1}{2}+1)^2} + \cdots \right) - \frac{2}{3} \left(\frac{1+u}{3} + \frac{(\frac{1}{2}+1)}{3} + \frac{2}{u} \right)$$

$$f(z) = \frac{1}{2+1} \left(\frac{1+\frac{1}{(2+1)}}{(2+1)} + \frac{1}{(2+1)^2} + \cdots \right) - \frac{2}{3} \left(\frac{1+\frac{(z+1)}{3}}{3} + \frac{2}{(z+1)} \right)$$

$$f(z) = \frac{1}{2+1} \sum_{n=0}^{\infty} \left(\frac{1}{2+1} \right)^n = \frac{2}{z} \sum_{n=0}^{\infty} \left(\frac{2+1}{3} \right)^n \frac{3}{(z+1)}$$

$$f(z) = \frac{1}{2+1} \sum_{n=0}^{\infty} \left(\frac{1}{2+1} \right)^n = \frac{2}{z} \sum_{n=0}^{\infty} \left(\frac{2+1}{3} \right)^n \frac{3}{(z+1)}$$

$$f(z) = \frac{2^2-1}{(z+2)(z+3)} \quad \text{for } z = \frac{2^2-1}{(z+2)(z+3)}$$

$$f(z) = \frac{2^2-1}{(z+2)(z+3)} \quad \text{for } z = \frac{2}{z} = \frac{2}{z}$$

$$f(z) = \frac{2^2-1}{(z+2)(z+3)} \quad \text{for } z = \frac{2}{z} = \frac{2}{z}$$

$$f(z) = \frac{2}{z} = \frac{2}{z} \quad \text{for } z = \frac{2}{z} = \frac$$





(An Autonomous Institution) Coimbatore-641035.

UNIT-IV COMPLEX INTEGRATION

By partial function method:

$$f(z) = \frac{x^2 - 1}{(x+2)(z+3)} - A + \frac{B}{z+2} + \frac{c}{z+3} (1) \text{ the deg } \text{ fs}$$

$$8 \text{ fn } \text{ fn both} \qquad \text{then add a constant},$$

$$= \frac{A(z+2)(z+3) + B(z+3) + C(z+2)}{(z+2)(z+3)}$$

$$z^2 - 1 = A(z+2)(z+3) + B(z+3) + C(z+2)$$

$$put z = -2,$$

$$(-2)^2 - 1 = 0 + B(-2+3) + 0$$

$$3 = B \implies B = 3$$

$$2 = 2$$

$$2 + 2 = 3$$

$$2 = 3$$

$$2 = 3$$

$$2 = 3$$

$$2 = 3$$

$$2 = 3$$

$$2 = 3$$

$$2 = 3$$

$$2 = 3$$

$$2 = 3$$

$$2 = 3$$

$$2 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$

$$3 = 3$$





(An Autonomous Institution)
Coimbatore-641035.

UNIT-IV COMPLEX INTEGRATION

$$\frac{3}{12} < 1$$

$$\frac{1}{12} = 1 + \frac{3}{3} - \frac{8}{8}$$

$$\frac{1}{2}(1) = 1 + \frac{3}{3} - \frac{8}{8}$$

$$\frac{1}{2}(1 + \frac{3}{2}) = \frac{8}{2(1 + \frac{3}{2})}$$

$$\frac{1}{2}(1 + \frac{3}{2}) = \frac{8}{2(1 + \frac{3}{2})}$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 + \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2}(1 - \frac{3}{2}) + \frac{(\frac{3}{2})^{2} + \dots}{(1 - \frac{3}{2})^{2} + (\frac{3}{2})^{2} + \dots}$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2} + \frac{3}{2}(1 - \frac{3}{2}) + \frac{(\frac{3}{2})^{2} + \dots}{(1 - \frac{3}{2})^{2} + (\frac{3}{2})^{2} + \dots}$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2} + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2} + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2} + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2} + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2} + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2} + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2} + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 - \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 + \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2}(1 - \frac{3}{2}) + \frac{3}{2}(1 + \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2}(1 + \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2}(1 + \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2}(1 + \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = 1 + \frac{3}{2}(1 + \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = \frac{8}{2}(1 + \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = \frac{8}{2}(1 + \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = \frac{8}{2}(1 + \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = \frac{1}{2}(1 + \frac{3}{2})$$

$$\frac{1}{2}(1 + \frac{3}{2}) = \frac{1}$$





(An Autonomous Institution) Coimbatore-641035.

UNIT-IV COMPLEXINTEGRATION

Find the laurent's series expansion of
$$\frac{Z-1}{(Z+2)(Z+3)}$$
 valued on the tegion $2 < 1$

$$\frac{Z-1}{(Z+2)(Z+3)}$$
 valued on the tegion $2 < 1$

$$\frac{Z-1}{(Z+2)(Z+3)}$$

$$= \frac{A}{Z+2} + \frac{B}{Z+3} \Rightarrow 0$$

$$\frac{Z-1}{(Z+2)(Z+3)}$$

$$\frac{Z-1}{(Z+2)(Z+3)} + \frac{B(Z+2)}{(Z+2)(Z+3)}$$

$$\frac{Z-1}{Z-1} = \frac{A}{(Z+3)} + \frac{B}{(Z+2)}$$

$$\frac{Z-1}{Z-1} = \frac{A}{(Z+3)} + \frac{A}{(Z+2)}$$

$$\frac{A}{Z-1} = \frac{A}{(Z+3)} + \frac{A}{(Z+2)}$$

$$\frac{B-H}{Z-1}$$

$$\frac{B-H}{Z-1}$$

$$\frac{B-H}{Z-1} = \frac{A}{(Z+3)} + \frac{A}{(Z-3)}$$

$$\frac{A}{(Z-1)} = \frac{A}{(Z-1)} + \frac{A}{(Z-3)}$$





(An Autonomous Institution)
Coimbatore-641035.

UNIT-IV COMPLEX INTEGRATION	LAURENT'S SERIES	•
12	$f(z) = -3/2 \left(\frac{1+2}{2} \right)^{-1} + \frac{1}{3} \left(\frac{2}{3} + 1 \right)^{-1}$ $f(z) = -3/2 \left(\frac{1-2}{2} + \left(\frac{2}{3} + \frac{2}{3$	